—-———

INDIAN INSTITUTE OF HANDLOOM TECHNOLOGY a1

DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY
SEMESTER EXAMINATION NOV/DEC-2017

(2014 REGULATION)
Time: 3 Hours
Semester: V1 Semester i ,
Subject Code & Name: 6.1 Weaving Technology & Textile Calculation—V Max. marks:80
PART A
2x10=20 Marks

Answer all the questions within twe or three sentences

L Wlm!aremrpandweﬂnmteﬁalsusedintheBanamsSame?

2. What you mean by Double Tkat weaving? _

What do you understand by London System of harness building?

What are the different hamess ties used in jacquard weaving?

SMWMmeonsﬂ)lctochangetheweightofﬂmfabﬁc. _

Write the formula to calculate ends per inch in the required cloth while changing the count

to maintain same level of compactness. )

7. Write the formula to calculate the tofal ends in a fabric if details of reed count, reed width,
extra selvedge ends are given

8. Write the formula to calculate tape length if details of cloth length and percentage of warp
crimp are given.

9. What are the factors required to determine cost price of a fabric?

10. Write the formula to calculate selling price per meter of a fabric if details of cost price
per meter and margin of profit are given.

P p

PART-B
Answer all questions in detail. 12x5=60 Marks
11. A_ Explain the difference between Adai Weaving of Kancheepuram and Jala Weaving of

Varanasi. (4)

B. Explain in detail about various stages involved in Warp Tie & Dye weaving technique in
handloom weaving. (8)

Or

C. Write short notes on Jamdani weaving of West Bengal. @)
D. Explain in details about the various stages involved in Weft Tie & Dye Technique in
12.A Using line sketch, explain Norwich system of hamess building. )

B. A 400 hook jacquard loom is engaged in the production of figured fabric having 80
pamchkisgopowdmmmuﬁcumfabﬁcwim%endspermhmmesaﬁgbm;nds
Prepare suitable caste out plan. (8)

Or



-2~
€. What count of point paper is to be usedwprodtmafabfic!nving 128 ends per inch and
96 picks per inch for producing design using 400 hook jacquard. (4}
D. With suitable diagram explain any one of the design harness tie. (8)

13.AAw@nmismvmwimmendspermchofloo’cmm.wamm \
ofendsperinchrequiredtokeepmelevequwmm,lfcoumygrn:smd {4)
B. A plain cloth is woven with 40° cotton is required to change the weave into

i. 4 thread twill ii. 6 thread sateen
Whatcomtofyamisrequiredtomaimainsamclevelofmpacm? {8
Or -
C. A cloth is woven with 32 ends per inch using 12° cotton. Wha!comnofyamrsmhemdtq
have 42 threads per inch to maintain same compactness? {4)

D. A cotton grey cloth is made with 20°x20° having 40 ends per inch x 44 picks per inch
is required to produce a fabric with same compactness but 10% heavier. What count of yam

and threads per inch should be used in the new fabric. (8)
14. A. Calculate weight of warp and weight of weft required to produce the cotton shirtmg fabnic
considering the following details.
Count of warp & weft -60° x40’ Ends/inch & picks per inch - 72 x 60
Crimp of warp & weft- 5% x4% Wastage of warp & weft - 5% x 4%
1
Width of fabric - 36 inches Selvedge - 2 inch on both sides
Cloth length - 100 yards

(12)
Or
B. Calculate the weight of warp and weight of weft required to produce silk fabric
by considering the following particulars.
Count of warp & weft -20 denier x 20 denier  Ends/cm & picks’cm -48x 40

Crimp of warp & weft - 6% x 5% Wastage of warp & weft - 3% x 4%
Width of fabric -120 cm Selvedge - 1 cm on both sides
Cloth length - 100 metres

(12}

15. Calculate the selling price of the fabric by considering the following.
Cloth length — 100 metres
Weight of warp consumed including wastage — 2. 893 kg
Weight of weft consumed including wastage — 3 452 kg

Cost of warp yam - Rs. 320.00 per kg

Cost of weft yarn - Rs. 280.00 per kg

Warp preparatory charges -Rs. 60.00 per kg

Weft preparatory charges ~Rs. 50.00 per kg

Dyeing charges for warp and weft -Rs. 90.00 per kg

Weaving charges -Rs. 25.00 per kg

procricad charges - @ 15% over production cost

. - @ 30% on cost price a2

%
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DIPLOMA IN HANDLOOM AND TEXTILE TECHNOLOGY
SIXTH SEMESTER (2011 - REGULATION) EXAMINATION -NOV/DEC-2016
6.1 WEAVING TECHNOLOGY AND TEXTILE CALCULATION-V

Time: 3 Hours Max.Marks: 80
PART-A
L Answer the following questions in two or three sentences : (2X10=20)
s are produced.

a) Name any two states where traditional handloom silk saree
b) Name any two states where tie and tie silk fabrics are produced.

c) Name any two different harness design ties used in handloom jacquard weaving.

d) Write the formula to calculate total number of ends per repeat of the design in a

jacquard cloth sample.

e) If the count of the fabric is changed into
of the compactness?

f)  State the factors that are responsible to increase the weight of the fabric.

g) State any two factors that are to be considered for calculating total number of endsina

finer one, how do you maintain the same level

fabric.
h)  Give two examples of wastages that are to be considered while calculating the weight of
the fabric.
i) Mention any two components that are to be considered while calculating the cost price
of the fabric.
j)  What do you mean by selling price of the fabric?
PARTB
II. Answer all the questions in detail
A)  Describe warp tic and dye weaving technique. )
B)  Explain the Jala weaving technique used in Banaras handloom saree weaving. (8)
(OR)
C)  Describe weft tie and dye weaving technique. C))
D)  Explain the Adai weaving technique used in Kancheepuram handloom saree
weaving. ®)
[II. A) Compare London system of harness mounting with Norwich system of haress
mounting. @)
B)  With suitable illustration, explain any one of the harness design tie is used in the
jacquard weaving. ‘ 1))

. (OR)
C) A hamess is tied-up with 72 sett and it is required to produce a fabric with 64
warp sett. How many hooks are to be caste out in a 400 hook jacquard machine? )

D) A fabric is woven with 96 harness cords per inch in a 400 hook jacquard loom.
The width of the harness cords tied up in the body portion is 50 inches. The
design tie used is Straight harness tie. How many harness cords are to be tied up
on each body hook? @)
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A cloth is woven with 60 ends per inch of 40° cotton yarn. Calculate the ends per
inch for the cloﬂxmbewovenwiﬂlZO’cottonyamsoastomainmmﬁ:csame
level of the compactness.
A plain cloth is woven with 20° cotton yarn with 44 ends per inch and 36 picks
per inch. Whatcountofwmpandweﬁistobemedtohave same cogmpactness if
the fabric is to be woven with 62 ends per inch and 51 picks per inch?

(OR)
A2 twill cloth having 85 ends per inch is required to be changed into plain fabric
by maintaining same level of compactness. Calculate number of ends per inch
that will be required in plain fabric.
A Plain cloth is made with 60° conon warp and 40° cotton weft. It con}nins 72
ends per inch and 60 picks per inch. It is required to produce a fabric with same
compactness but 10% heavier. What count of warp and weft, ends per inch, picks
per inch should be used in the fabric?

Calculate weight of warp and weft. in Ib of cotton fabric measuring 100 yards
woven with following particulars.

Count of warp and weft -20° x 20°

Ends per inch and picks per in~% -42x42

Warp and weft crimp -4%x6%

Width of the fabric - 48 inches

Selvedge is drawn 4 in a dent, 1/, inch on both sides of the fabric.
(OR)

Calculate the weight warp and weft kg of cotton fabric measuring 100 meters

" woven with following particulars.

Count of warp and weft yamm -10 Tex x 15 Tex
Ends per cm x picks per cm -28x24

Warp and weft crimp -4%x 6%

Width of the fabric . : -91cm

Selvedge is drawn 4 in a dent, 0.5 cm on both side of the fabric.

Calculate selling price per towel by considering the following particulars.

Number of towels produced per warp -60

Weight of warp yam including waste - 3.444 kgs.
Weight of weft yarn including -vaste - 2.856 kgs.

Cost of warp yarn - Rs.140.00 per kg.
Cost of weft yam - Rs.120.00 per kg.

Bleaching charges both for warp & weft - Rs.40.00 per kg
Preparatory charged both fui'varp & weft - Rs.50.00 per kg.

Weaving charges - Rs.30.00 per piece
Finishing charges - Rs.8.00 per towel
Overhead charges - = 15% of the basic cost

@

®

®

(12)

(12)

Profit of margin - 30% of the cost of production  {12)
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~  Answer all the question in two or three sentence. 240-23
‘Af' Name any two States where traditional Sarees are producad. -
AT Hame any two States where Tie & &*e‘aﬁtmam meua*‘
v A2 Wame any two different hamess ties w&*’* T Brguacd meaTmg
f What s the meanng of < Casting Qut” o izoquard wearng’
Tite the formuda to calculate count of yarn in the e
Se changed by maintaining same level of :.3«-:;,;::5»3:3.
State the factors that are responsible to change the weight of the fabnc

g

— " ~
ract clmen wEen riragds o oot Fe TBOOFES
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j“’ Give any two types of “Wastages” thatare tobe ”r;wx"—:-'—z: i the doth caiculstion - e &7’ |
S Mention any beo components that ar= to be considered i the costng of fB0ncs.
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/ 3} Descrite briefly the Warp Tie and Dye technique in terms o7 cesien pregaralion. Design Tarsser <
o warp and weaving.
5}  Explain the smportant features of Kancheeguram handloom sarse weawing tedmgue. g
OR
Describe bneﬁg the Weft Tie and Dye techmgue in terms of design preparation. design TenTer 8
waft and weaving T
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U
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Calculate weight of warp and weft present in 100 yards of fabric with following particulars: 12
Count of warp & weft - 20 tex Warp crimp - 4%
Ends per inch - 42 Weft crimp - 5%
Picks per inch - a4 Cloth width - 48 inches,
Selvedge -} inch drawn 4 in a dent on both side of the fabric.
OR | ,
Calculate weight of warp and weft present in 100 meters of cotton fabric with the following particutars- 1
. )
Count of warp & weft - 20Tex Warp Crimp - 4%
Ends/cm. ; 20 Weft crimp - %
Picks/cm. - 22 Cloth width - 120 ¢m
Selvedge - 0.5 cm drawn 4 in a dent on both side of the fabric.
2
Calculate the selling price per meter of a fabric produced with the following particulars. 12
{Cloth length . 40 meters
Actual weight of 60° warp yarn in the fabric . 1.500 kg
Actual weight of 40° weft yarn in the fabric . 1.884 kg.
Wastage of warp yarn - 5%
Wastage of weft yarn 4%
Cost of 60° yarn . Rs. 240/- per kg.
Cost of 40° yarn - Rs. 205/- per kg.
Warp preparatory charge ) Rs. 30/- per kg.
Weft preparatory charge - Rs. 20/- per kg.
Dyeing charges for warp/weft - Rs. 50/- per kg.
Weaving charges - Rs. 40/- per metre
Overhead charges - 12% of total cost
Margin of profit - 0% y
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VI SEMESTER

11

12

Time : 3 Hours

10

A)
B)

9
D)

A)
B)

C)

D)

PART-A
(Answer all the questions within two to three sentences)
Name any two traditional silk handloom sarees.

Name any two traditional tie & dye fabrics.

Mention any two differences between London harness tie and Norwich
harness tie.
Name any two design harness ties.

Name any two factors that are responsible for increasing or decreasing

the weight of the fabric.
If the count of the fabric is changed into coarser, how will you maintain

the same level of the compactness?
Write the formula to calculate total number of ends in the body of the

warp sheet.
Mention two examples of wastage in weaving.

What do you mean by costing of fabric?

What is the difference between cost price and selling price of the fabric?
PART-B

Describe briefly warp tie and dye weaving technique.

With the help of diagram explain technique used in Traditional Banaras
Saree weaving.

(OR)
Describe briefly weft tie and dye weaving technique.

Explain in detail about the technique used in weaving Traditional
Kancheepuram Saree.

Briefly explain the London tie used in harness building on handloom.

With a suitable diagram explain any one of the design harness tie used
in handloom.

(OR)
A 400 hook jacquard is mounted on 50 inches wide loom. The proposed
harness sett is 40. How many harness cords are to be tied up on each

hook?
A harness is tied up with 72 sett on a 400 hundred hook jacquard loom

and it is required to produce 64 warp sett. Prepare casting out plan.

6.1- WEAVING TECHNOLOGY AND TEXTILE CALCULATION-V

2 x 10=20 Marks

12 x 5= 60 Marks

@
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4
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@®)
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A)

B)

9]

D)

A)

B)

A cloth is woven with 72 ends per inch of 60¢ cotton. Calculate ends per
inch in the new fabric if the count is to be changed into 80* cotton so as
to maintain same level of the compactness.
A cloth is woven with 28 ends per cm of 10 Tex yarn. Calculate ends per
cm in the new fabric if the count is to be changed into 20 Tex.

(OR)

A cloth is woven with 32 ends per inch using 10¢ cotton yarn. What
count of the yarn is to be used to have 24 ends per inch to get the same
compactness?

A cloth _is woven with 12 ends per cm using 60 Tex yarn. What count
of yarn is to be used to have 20 ends per cm?

Calculate the weight of warp and weft in 1b required to produce 1000
yards of fabric with the following particulars :-

Count of warp and weft - 40° x 40°

Ends per inch and picks per inch — 60 x 52

Warp crimp and weft crimp — 5% & 6% respectively

Width of the fabric — 36”

Selvedge - % inch on both sides 4 ends are drawn per dent

(OR)

Calculate the weight of warp and weft required in kg to produce silk
fabric measuring 100 metres with following particulars :-

Count of warp and weft - 20 Denier x 20 Denier.

Ends per cm and picks per cm — 48 x 40

Warp crimp and weft crimp — 5% & 6% respectively

Width of the fabric — 90 cm

Selvedge - 0.5 cm on both sides 4 ends are drawn per dent

Calculate selling price per metre of the fabric by considering the following
particulars :-

Cloth length — 100 meters
Weight of warp consumed including wastage - 3.350 kg
Weight of weft consumed including wastage - 3.515 kg

Cost of warp yam - Rs. 280 per kg

Cost of weft yarn - Rs. 250 per kg.

Warp preparatory charges - Rs. 50/- per kg

Weft preparatory charges - Rs. 40/- per kg.

Dyeing charges for warp and weft - Rs. 80.00 per kg.
Weaving charges - Rs. 15 per metre.
Overhead charges - @ 15% on the base cost
Margin profit - 30%

o ok 3 e ok 3ok e ok ok Ok ok ok ok
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(12)

(12)

(12)
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SEMESTER EXAMINATION APRIL/MAY-2017 (2014 REGULATION)

Time : 3 Hours

VI SEMESTER

h & W N =

10
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A)

B)
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D)

PART - A
(Answer all the questions within two to three sentences)
What is the specialty of Kancheepuram saree?

What is the specialty of Banaras Saree?
Name two fabrics that are produced by using Sectional harness tie.
What do you mean by “Casting out”?

Write the formula to calculate count of warp yarn in the required cloth,
when ends per inch in the fabric are required to be changed.

Write the formula to calculate ends per inch in the required cloth, when
the count of the warp yarn in the fabric is required to be changed.

Nagle any two factors considered while calculating weight of warp or
weft.

Name any two types of wastages considered while calculating the weight
of warp or weft.

What do you mean by costing of fabric?

What is the difference between cost price and selling price of the fabric?
PART-B

Describe steps involved in Traditional Banaras Saree weaving.
Explain the warp tie and dye weaving technique.

(OR)
Describe steps involved in Traditional Kancheepuram Saree weaving.

Explain in details about the weft tie and dye weaving technique

Briefly explain the London system of harness tie.

With a suitable diagram explain any one of the following design harness
ties.
i. Straight harness tie ii. Pointed harness tie.

(OR)
Briefly explain the term casting out?

In a 400 hook jacquard loom, It is proposed to build Straight harness tie
with hamess sett of 40. Width of the body harness to be built up is 50
inches. How many hamess cords are to be tied on each hook?

Max. Marks : 80

6.1- WEAVING TECHNOLOGY AND TEXTILE CALCULATION-V

2 x 10=20 Marks

12 x 5= 60 Marks
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A cloth 1s woven with 72 ends per inch of 60° cotton. Calculate ends per
inch in the new fabric if the count is to be changed into 40° cotion so as
w mamtain same level of the compactness.

A Z will cloth is woven with 72 ends per inch and 64 picks per inch. If
the weave is changed into plain weave having the same compactness,
calculate the number of ends per inch and picks per inch required in the
plain cloth if the count of warp and weft are same.

(OR)

A cloth is woven with 32 ends per inch using 10° cotton yarn. What
count of the yarn is to be used to have 48 threads per inch to get the same
compactness?

A cotton cloth is made with 60°x40° having 64 ends per inch x 52 picks
per inch. It is required to produce 2 fabric with same compactness but
10% heavier. What count of yarn and threads per inch should be used in
the new fabric?

Calculate the weight of warp and weft present in 1000 yards of fabric
with the following particulars.

Count of warp and weft - 40° x 40°

Ends per inch and picks per inch - 60 x 52

Warp crimp and weft crimp — 3% & 6% respectively

Width of the fabric — 36 inches

Selvedge -'2 inch on both sides 4 ends are drawn per dent.

(OR)

Calculate the weight of warp and wefl required in kg to produce silk
fabric measuring 100 metres with following particulars.

Count of warp and weft - 20 Denier x 20 Denier

Ends per cm and picks per cm - 48 x 40

Warp crimp and weft crimp — 3% & 6% respectively

Width of the fabric — 90 em

Selvedge - 0.5 cm on both sides 4 ends are drawn per dent.

-

Calculate selling price per metre of the fabric by considering the following
particulars.

Cloth length — 100 meters
Weight of warp consumed including wastage - 3.350 kg
Weight of weft consumed including wastage -3.515kg

Cost of warp yamn -Rs. 280 perkg

Cost of weft yam - Rs. 250 per kg.

Warp preparatory charges -Rs. 30/- per kg

Weft preparatory charges -Rs. 40/~ perkg.

Dyeing charges for warp and weft - Rs. 80.00 per kg.
Weaving charges - Rs. 15 per metre.
Overhead charges - @ 15% on the base cost
Margin profit - 30%

FRFEFEBFIRESEEEEE R
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i
il
iii.
iv.
V.

Vi.
vil.

Answer all questions in ONE or Two sentences.

Viii.
ix.

DIPLOMA IN HANDLOOM & TEXTILE TECHNOLOGY
VI SEMESTER (BACK PAPER) EXAMINATION - NOV./DEC. - 2015

6.1 WEAVING TECHNOLOGY & TEXTILE CALCULATIONS - :V
Max. Marks: 8¢

PART A
(10x2=20)

Name two traditional motifs of Kanchipuram sarees.
What is the specialty of Jamdhani designing technique?
State two major differences between London and Norwich harness ties.

What is the meaning of “symmetry”?

If the count of a fabric is changed to a finer one, how do you maintain the same
level of compactness?

State the factors that are responsible for the change in weight of a fabric.

State the length and weight unit of woolen Yorkshire system.

State the numbering system widely used for expressing the count of silk yarm.
State which one shall be cheaper? — A grey fabric produced by handloom

or by powerloom.

What is the strength of handloom fabric in comparison of powerloom and mill
made fabrics.

PART B

Answer all questions in detail.

[I. a. Using line sketch, briefly state the important features of the jala set-up. (04)

b.

e o

o

Explain the designing technique of warp tie and dye. (08)
OR

Using line sketch, briefly state the important features of the Adai set-up. (04)
Explain the designing technique of weft tie and dye. (08)

Using a line sketch, briefly state the important features of London Harness System. 04)
A jacquard loom mounted with 240 hooks (8x30) jacquard is engaged in the

production of a figured fabric having 56 EPI using the full capacity of the jacquard

with straight harnessing. It is proposed to manufacture the same design without

any change in dimensions using 35 EPI with a different warp count in the same

loom. Prepare a suitable casting-out plan so that re-hamessing can be avoided. (08)

OR

Using a line sketch, briefly state the important features of Norwich Harness System. (04)
A jacquard leom mounted with 400 hooks (8x50) jacquard is engaged in the

production of a figured fabric having 80 EPI using the full capacity of the jacquard

with straight harnessing. It is proposed to manufacture the same design without

any change in dimensions using 56 EPI with a different warp count in the same

loom. Prepare a suitable casting-out plan so that re-harnessing can be avoided. (08)
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V.

c.
d

a.

C.

State the formula for determining the maximum EP1 of a fabric.
A 5 thread Satin fabric made of 20 Tex cotton has 120 EPI and 64 PPL It is req
to change the count of warp and weft to 30 Tex maintaining the same compactness.
Estimate the EPI and PPI of the new fabric. (08

OR

State the formula for determining the maximum PPI of a fabric.
A plain cloth made of 36° cotton has 60 EPI and 52 PPL It is required to increase
the weight of the fabric by 20% keeping the same level of compactness and weave

(04)

intact. Estimate the EPI and PPI of the Target cloth. (08)
Find the gsm of the following fabric. (04)
Count of warp :20°
Count of weft - 20°
Ends per inch : 56
Picks per inch : 48

A stripe fabric of 40.5 inches width on 84° Stockport Reed is woven using 50° cotton

as warp and weft and has 72 PPI. Selvedges are 0.25 inch on each side having 2/40° yarn
drawn 2 per dent. The length of the piece is 30 yards and has a warp and weft regain of
5% each. The warp pattern is given below:

40° Dark Brown — 1 inch

36° White — 1 inch

Calculate the amount of warp and weft yarn required to produce 50 pieces considering

a wastage of 5% in warp and 3% in weft. (08)

OR
Find the gsm of the following fabric (04)

Count of warp : 30°
Count of weft : 30°
Ends per inch : 72
Picks per inch : 68

. A piece of 40 metres of cloth woven from a warp which is 80 cms wide in the reed.

The warp pattern is as below:

20 ends of 10 Tex Light Blue

20 ends of 15 Tex Dark Blue

4 ends of 20 Tex Dark Brown

There are 100 repeats of pattern with 20 extra ends of Dark Brown on each side

of the selvedge. The count of weft is 20 Tex and the fabric has 25 EPcm.

If the warp Regain is 5%, estimate the warp and weft required to produce 100 pieces

of the fabric allowing an allowance of 3% towards waste. (08)
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Length -
Width -

Waste in Warp -
Waste in Weft

Selvedge -
Cost of 40° Cotton Yam
Warp Preparatory Charges
Weft Preparatory Charges
Weaving Charges
Overheads

Profit

sioulate the Selling Cost per metre of the following fabric:

100 yards

40 inches

80* Stockport

76

40° Cotton

40° Cotton

8%

5%

3%

2%

0.4 inch on each side
- Rs. 240/- per kg.

- Rs. 25/- per kg.

- Rs. 10/- perkg.

- Rs. 12/- per metre

- 10% of Base Cost

- 15% Production Cost

(Assume any other data required)

b. Calculate the Selling cost per metre of the following fabric:

Length -
Width -
Reed -
PPI -
Warp -
Weft -
Warp Crimp -
Weft Crimp -
Waste in Warp -
Waste in Weft -
Selvedge -
Cost of 20° Cotton Yamn
Warp Preparatory Charges
Weft Preparatory Charges
Weaving Charges
Overheads

Profit

OR

100 metres

60 inches

56° Stockport

52

20° Cotton

20° Cotton

12%

5%

3%

2%

0.4 inch on each side
- Rs. 200/- per kg.

- Rs. 25/- per kg.

- Rs. 10/- per kg.

- Rs. 9/- per metre

- 10% of Base Cost

- 15% Production Cost

(Assume any other data required)

Fkkkok Rk
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1)

13)

EFARL-A
Answer all the questions within two to three seitences (L =240)

Mention the difference between single ikat and double o

Mention two hasic differences hetween London system of Harness building and Morwich system of barmess building
Narmie any two states where te and dye silk sarees are produced

What is casting-out of Jacouard”
Ascertain the number of unit spaces of 6-thread satee

Write the formula to calculate ends per inch in the requited cloth, while changing e count to maintamn same be el of
compactness in inditect system

What 15 the object of cloth calculation”

Define the term “Meed with™ and “Fape lenyth

What is the difference betweer cost price atid selling price of fabric’
What are the factons required 1o determine the cost prise of a fabric”

EARL-B
Answer all the questions in detall (4+855-60))
(A)  Describe briefly the warp e and dye technique in terme of design preparation. design tansfer « warp and
weaving
(B)  Explain the important features of Banaras) Handloom Sarees Weaving with jsla technigue

Ok

() Using a hine sketch, briefly state the importam features of the Ada) Set-up

(D) Explain the design preparation technigue of wefr tie and dye

(A)  Using a line sketch, briefly state the imponam features of London Harness ©ystem

(By A 304 Hooks Jacquard 1 tied-up 40 inches vaoe, 76 Hamess cord per inch (f the sert of Harness 1s reduced Lo

64 cords per inch, how many hooks will have 1o be cost awt” Prepare 2 sutable casting owm plan so 1hat re-
narmessing can be avoided

Ok

(C)  Using a line sketch, briefly state the important features of Norwich Harpess ©ystem

(D) 1f a Harness 15 tied upto 72" set and it is desired to produce a fabric of $6° set, how many hooks would have 1o
he cast-out in a 400 hooks machine and how should they be distributed in order to avoid re-harmessing,

A 52 inches cloth 100 yde long contains 80 threads per inch of 52" cotton yarn s both warp and
weft. The weight of the fabric 15 70 pounds. If we produce a new cloth of equal dirension and firmnsss, weighing 26
pounds

(A)  What count of warp and weft will be required and how many threads per inch will be in the cloth?

(B)  Verify the results by actual caloulation assuming 5% contraction in buth warp and we,
O
() A cloth s woven with A" warp and 56" weft It U)ﬂldlﬂ% 68 Gﬂd& per inck and 60 picks per inch, what should
be the ends per inch that fabrics will contai if W' warp and 10" weft used 1o have the same cover fraction.

(D) A plain coth woven with 24" cotton yarn 1t 16 be changed imo () 4-thread vateen and (b) 6-thread satsen

fabrics Keeping the same number of threads per inch, what count of yarn should be employed in sateen fabrics
t have the same compactness”

y1.0



14} A cloth 4.5 inches wide on 72°% S 1 1eed s woven with 12" warp amd A0° weft and B4 picks par ek "““’M’ /
inch on each wide are drawn 4 endu per dent The count of the sslvedge yarn s same 4 thast of wnep yarn The langh

(2

of the piece 16 40 yirds  regain of warp is 4%, calculite.

(A)  Tape length and total number of ends in warp

(B)  Total weight of yarn in the piece

OR
(C) A cloth 52 5 inches wide on the reed is 47 yards long and comtains 60 gicks per mch. 1f the weight of veft »
the cloth is 314 pound, what 15 the count of weft yarn”
(D)

A 35 meties long and 100 ems Wide cloth 15 woven with 20 picks per e if the count of e weft o

tex and the weft regain 1s 8%, calculate the total length and weight of the weft i the cloth

15) 1f a fabric s constructed as per following particular

Count of warp yarn

- 272" comtun (coloumedy

Count of well yarn - 1%° cotton (colenred)
Ends per inch - 4

Picks per inch - ()

Warp crimp - b6 5%
Weft crimp % 5%
Width of cloth - £
Assume length of cloth v 10 yds

Weight of warp consumed including wastage . 13277 Ibs

Weight of welt consumed including wastage 155 Ihs

Cost of 22° cotton yarn - Rs, 220/ per pound
Cost of 187 cotton yarn - K 280/ per pencd

Warp preparatory charges
Wefl preparatory charges
Dyeing preparatory charges
Weaving preparatory charges
Overhead charges

Fa 60/ per pound
s K5 50/ per pouns
» Fs 100/ per pound
- fa 28/ per yds
1 5 traer production cost

(A) Calculate the weight of fabric in ounce per square yas
(B) Calculate the selling price per yds by allow ng 36% margin of profit

OF

if a fabric is constructed as per following particular,

Count of warp and weft yarn - 120 denier x 100 demer
Ends and picks per cm. = 75 4%0
Width of cloth - 120 ¢m

Length of cloth " 100 mtrs

Warp and weft crimp . 5% & 8%, respectively
Weight of warp including wastage - 4.402 kg,

Weight of weft including wastage - 4408 kg,

Waste in warp & weft » 3 & 2%, respectively
Cost of raw material

Warp 5 380/ per kg

Weft - Ra 340/- per kg
Weaving charges " Rs. 3/- per meter

Processing charge: o Rs. /- per meter
Transportation charge 50 paise per raeter

Overhead charges

1 5%, »f the total cost

(C) Calculate the (3.5 M. of the fabric.
(D) Calculate the selling price per meter of the fabric allowing 20% margin of grofa,

0K 30y
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PART-A

Answer all the questions within two or three sentences (2 x 10 = 20 Marks)

1. Name any two traditional fabric weaving technique in practice and their products produced thereof.

2. What do you mean by double Ikat weaving?

3. Name any four harness design ties used in jacquard weaving.

4. What do you mean by casting out?

5. Write the formula to calculate ends per inch in the required cloth, while changing the count so as to maintain same
level of compactness.

6. Two fabrics are produced with the same count of yarn and threads per inch, but one fabric woven with plain weave

and another with twill weave. Which fabric will be more compact and why?

Write the formula to calculate tape length if details of cloth length.and percentage of warp crimp is given.

Write the formula to calculate weight of weft in the fabric if details of picks per inch, reed width and cloth length
is given.

9. Write the formula to calculate selling price of the fabric, if details of cost price, profit of margin are given

10. Name any four factors that are considered to calculate cost price of the fabric.

o N

PART -B
Answer all questions in details (4+8)x5 = 60

11. (A) Differentiate between Kancheepuram Adai weaving technique and Banaras Jala Weaving technique.
(B) Explain in details about warp tie and dye weaving technique.

OR

(C ) Briefly explain steps involved in weft tie and dye weaving technique.
(D) Explain in details about Banarasi traditional Jala weaving technique.

12. (A) Differentiate between London system and Norwich system of harness mounting.
(B) With a line sketch diagram, explain Straight harness design tie used in jacquard weaving.

OR

(C) A 400 hook jacquard is tied up with 80 harness cords per inch. The width of harness cords built in excluding
selvedge is 60 inches. How many harness cords are to be tied on each hook?

(D) A 400 hook jacquard loom’s harness is tied up with 80 harness cords per inch. Now it is decided to weave
another design using 64 harness cords per inch. Prepare cast out plan.



13.

14,

15.

(A} A cotton saree is woven with 56 ends per inch of 40* cotton warp. Calculate number of ends
per inch required to produce the fabric so as to keep same level of compactness if 60° cotton
warp is used.
(B) A plain cloth is woven with 20° cotton and it is required to change the weave into
(i) 4 thread sateen (ii) 3 thread twill
What count of yarn is to be used to produce the fabric by maintaining the same level of the compactness?

OR

(C ) A saree is woven with 36 ends per inch of 20° cotton. What count of yarn is to be used to produce the saree

to have same compactness and to have 52 ends per inch?
(D) A cotton grey cloth is woven with 20°x 20° having 40 ends x 44 picks per inch. It is required to produce the
cloth with the same compactness but 10% heavier. What count of yarn, ends per inch and picks per inch should

be used in the new fabric?

A cloth is 45 inches wide on 72 ST reed & is woven with 60° warp. The 40° cotton weft is woven with 60 picks
per inch. Selvedge % inch on both side drawn 4 in a dent. The length of the piece is 100 yards. Regain of warp
and weft is 4% and 5% respectively. By considering the above details, find out

(A) Weight of the weft in the fabric in Ibs.

(B) Weight of the warp in the fabric in Ibs.

OR
A fabric is woven with the following particulars
Count of warp & weft = 20 Dr. x 20 Dr. Ends/cm & picks/cm - 48 x 40
Crimp of warp & weft — 5% & 6% Wastage of warp & weft — 5% & 4%
Cloth length - 100 meters Width of the fabric — 120 cm

Selvedge 1 cm on each side

By considering the above details, find out
(C ) Weight of weft in the fabric in kg
(D) Weight of warp in the fabric in kg

By considering the following details of a fabric

Cloth length - 100 meters

Weight of warp consumed including wastage - 2.893 kg

weight of weft consume including wastage - 3. 452 kg

Cost of warp yarn — Rs. 320.00 per kg Cost of weft yarn — Rs. 280.00 per kg

Warp preparatory charges - Rs. 80.00 per kg Weft preparatory charges — Rs. 60.00 Per kg.
Dyeing charges both warp & weft- Rs. 35.00 per kg Weaving charges Rs. 40.00 per meter.
Overhead charges - @ 15% over production cost Profit of margin Rs. 30% on cost price
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PART - A
Answer all questions within two or three sentences (2x10-20)

L Name amy two Traditional handloom weaving techniques practiced in India and list the products
produced thereot”

2. Whatdo vou mean by Double hat Weaving Technique?

3. Name o systems of harness building adopted in jacquard weaving.

4 What is casting out in jacquard weaving?

S Waite the formula to caleulate the count (Indireet system) while changing the ends per inch to
mamtain the same level of compactness.

6. Nate any o factors that will change the weight of the fabric.

-

« Write the formula to caleulate Tape length, if details of cloth length and pereentage of warp crimp
are ginen.
8. Nameany four factors that are to be considered while caleulating weight of the weft available in the
tabric.
9. Write the formula to caleulate selling price of the fabric. if details of cost price and profit of margin
are ghven.

10, What are objectives of costing of fabric?
PART -B
Answer all questions in detail (4+8)x5 - 60
Tl (A) Briefly explain steps involved in Weft Tie&dye Weaving technique. “h
(B) Explain in detail Traditional Kancheepuram handloom weaving technique. (8)
OR
(€) Breifly explain either Traditional Banaras handloom weaving technique or Traditional Jamdani
handloom weaving technique. (4)
(D) Explain in detail any one ot the Traditonal handloom weaving technique. (8)
12, (A) A 200 hook jacquard is tied up with 40 harness cords per inch. The width of harness 4
excluding sclvedge is 60 inches. How many harness cords are to be tied on each hook?
(B) With line sketch diagram explam any one of the design harness tic. (8)
OR
(C) Briefly explain the casting out technique adopted in jacquard weaving. 4

(D A cloth in a finished condition contains 80 ends per inch and 60 picks per inch. The size of the
one repeat of the design is 8 inches long and S inches wide. Determine number of ends per
repeat of the design and picks per repeat of the design. (8)

13. (A) Asilk tabric is woven with 20 Denier metric varn having 100 ends per inch. What count of
varn should be used in the fabric by maintaing the same level compactness with 80 ends per
inch? 4
(B) A fabric is made with 20 Tex warp and weli, conains 25 ends per cm and 20 picks per cm.
How many ends per em and picks per cm arc required to maintain the same level of
compactness using 24 Tex yarn both in warp and wefl. %)



[ES

OR
(C ) A plam fabric is woven with 20 cotton yam and reguived o change into 4 thread twitl Wha
count of varn s required o mamtain the same level of compactiness? th
(D) A cotton saree i woven with 60% x 60% with 36 ends per ineh x 36 pichs per ineh. What count
of varm and theeads per ineh should be used to maintain the same level compactness but 1%
heavier? (%)

A fabrie is 4 inches wide o 60 ST reed woven with 40 warp and well, The well is woven with
52 picks perineh. bty inch selvedge is drawn on both sides with 4 ends ina dente Phe eloth Jength is
100 yards. Regain of warp is 4%, By considering the above details,

{A) Fand out Total number of ends in the tabric,

(B) Also find out the weight of warp and welt available in the fabric in kg,
OR

90 cm wide sateen fabric is woven with 25 Tex warp and weft, Ends per em and picks per em are

20 and 24 vespectively. Warp regain and well regain are 3% and 3% respectively Selvedges 1 em

on both side are drawn 4 ina dent. The cloth fength is 100 metees. By considering the above details

(H
(8)

(€) Find out Total number ol ends in the fabric, 4
(D) Also find out the weight of warp and weft avatlable in the fabric in kg. )
1S, (A) After considering the following details, estimate selling price per meter of the tabric, (M
Cloth length - 100 metres
Weight of warp consumed including wastage - 9529 b
Weight of weft consumed including wastage = 9709 kp
Cost of warp vam - Rs. 1500.00 per 10 1b
Cost of wefl varn = Rs. 1600,00 per 10/ 1b
Warp preparatory charges < Rs. 750,00 per 10 1b
Weft preparatory charges - Rs. 500,00 per 10 1b
Dyveing charges for both warp and well < Rs. 600,00 per 10 1b
Weaving charges Rs.60.00 per metre
Overhead charges < 15% of the production cost
Margin of profit 30% of the cost price.
OR
(B) Calculate the cost per meter of the cloth woven with the following particulars (12)
Warp count :2/20° Ne
Weft count :10° Ne
Width of cloth :60 inch - Selvedge V2 on cach side drawn Vdemt
Length of cloth 1180 yards,
Linds/inch 272
Picks/inch :60
Cost of 220° : @Rs. 1200 per bundle of 10 Ibs.
Costof 10° : (@Rs. 900 per bunle of 10 Ibs.

Weaving charges
Preparatory charges
Other charges
Crimp of warp
Crimp of weft
Waste of warp
Waste of weft
Margin of profit

> Rs. 26/- per vard

: 15% of weaving charges
1 10% of weaving charges
1 5%

: 8%

1 3%

2%

:20% of the cost price.

)
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PART -A

Answer all the question within tive or three sentenees (27 10 = 20 Mavks)
< How the solid border s abtained 1t Kanchecpuram handioom weay inp?

What is the difference between tic-dye and Thka?
- Classity the method of Harness maunting on jacquand looms,

‘- fs -

.
P

- Write the name of different harness tie-up system used i acquand sy sten,
- What do vou mean by eloth compactness?

< What are the factors effecting tabrie weipht ?

- What do you mean by Fabrie Arveal Densin?

- What do you mean by Tape length?

I

-3 O

74

9. Write the essentinls (at least six) to ascertaun the cost ot tabuie,
10,11 the cost per meter ot a cloth is 30 and the profitmargin s 20% o what wWill be the selling prive of the eloth®,

PART1
Answer all the questions in details [CHESY A S = 00 Mavks)
L1, a) Compare between Warp IRRat and Wett IKkac technigue,
B) What is Jala 2 How to introduce the Desipn inweay g using Jala system?

OR

1. ¢) State Features of Kancheepuram Handloom Weaving and the steps imvolved.
) Explain the process of Double Thkat Technigue in details,

12, a) Compare between two harness mounting sy sten,
b) Briefly discuss about the ditferent type of Harness Tie-up(s),

OR

12.¢) What ave the points to be considered during harness building?
d) A warp with o4 threads per inelin the veed has o be woven inaA00 tie with 8O harmess cords per inely in
the comber board. Ascertain the no, ol hooks o be cast out and i what manner

13. a) A plain cloth contains 80 ends off l(m{‘\m‘n perineh, Caleulate the no, of EPE o be regquited to keep the
same firmness i a 64° yarmn is used.
b) A plain cloth woven with 24% cotton yarn is to be chanped into < thread sateen keeping the same no. off
threads per inch, What count of yarn should be employed in sateen fabric to have the same compactiess?

OR

13.¢) A cloth contiin 48 EPLof 16 yarn, What count of yarn should be used ita cloth of the same companiness i
to be produced with 00 1P1? '
d) A 272 Twill eloth woven with 100 tex warp and 300 ted well yan is to be chanped into pliin weane
keeping the same no. of theeads per ineh, What count of yarm shoukd be employed i the plain fabeie o ave
the same compactiess?



14. A cotton cloth is woven as per the following particular
Warp Count = 22° Ne, EPI = 64 Warp Crimp = 6.5%
Weft Count = 18° Ne, PPI = 60 Weft Crimp = 8.5%
Width of cloth = 1 yard ; Length of cloth = lyard. '
a) Calculate the weight of warp yard per square yard
b) Calculate the Fabric weight in 6unce per square yard

OR

14. A cotton cloth is woven as per the following particular
Warp Count =20 tex EPCM =25 Warp Crimp = 7.0%
Weft Count = 30 tex PPCM =20 Weft Crimp = 6.0%

Width of cloth = 120 cms ; Length of cloth = 60 mts
c) Calculate the weight of weft in kgs
d) Calculate the Fabric GSM

LS. A Stripe cotton shirt is woven as per the following partjculars:
Warp Count = Grey 40° Ne, Colour 2/80° Ne,

Weft Count = 36 ° Ne, Reed count = 80°ST PPl =56

Finished width = 36 inches Total coloured ends = 820 Reed Space = 40 inches.

Finished Length = 90-meters Tape Length = 97 meters Selvedge = 64 Grey 40° Ne,
Warp Waste = 3% Weft Waste = 2% Cost of 36° Ne, = Rs 110/- per kg

Cost of Grey 40° Ne.= Rs 120/- per kg Cost of Colour 2/80° Ne, = Rs 180/- per k
Warp preparatory charges = Rs 25/- per kg Weft preparatory charges = Rs 15/- per kg

Weaving Charge = Rs 15/- per kg Other Expenses = 20% of Weaving Charges

Yarn Dyeing Charge = Rs 30/- per kg Processing Charge = Rs 6/- per kg
Profit Margin =17 % :

a) Calculate the weight of the three different yarns required.

b) Calculate the total selling price of the fabric

OR

15. A Silk fabric is woven as per the following particulars:

Warp Count =40 denier Weft Count = 60 denier Reed count = 120°ST

PPI =100 Cloth width = 45 inches Piece Length = 100 meters
Selvedge = 42 each side of 40 denier Warp Crimp = 2% Weft Crimp = 4%
Warp V\V/aste =1% Weft Waste = 2%

Cost of 40 denier = Rs 1800/- per kg Cost of 60 denier = Rs 130)0/- per kg
Conventional charges = Rs 35/- per meter Overhead Expenses = 10% of total cost

Dyeing Charge = Rs 80/- per kg Profit Margin = 20%

c) Calculate the cost of the two different yarns required.
d) Calculate the total selling price of the fabric




